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Stylobatbreite                 750´´ = 25 x 30
Cellabreite                     450´´ = 15 x 30
Seitenpterontiefe            150´´ =   5 x 30
Ostpterontiefe               178´´   =   6 x 30    –  2´´
Westpterontiefe             148´´   =   5 x 30    –  2´´







Unterer Säulendurchmesser    55´´ =    5 x 11´´
Interkolumnium                      88´´ =    8 x 11´´
Joch                                     143´´=  13 x 11´´
Säulenhöhe                           286´´ =  26 x 11´´
Architravhöhe                        46´´=     4 x 11´´ + 2´´
Triglyphenhöhe                       44´´ =    4 x 11´´
Geisonhöhe                            21´´ =   2 x 11´´  - 2´´
Triglyphenbreite                      27,5´´ = 2,5 x 11´´
Metopenbreite                        44´´ = 4 x 11´´
Geisonausladung                      23´´ = 2 x 11´´ + 1´´


























































